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Building up a hexagram with one dice
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BUILDING UP A HEXAGRAM WITH ONE DIE HAVING NONE OR ONLY ONE CHANGING LINE
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Examples:

4-2-2-1-2-5 and two more: 3 -1

. I
1

1-5-2-6-1-4andtwomore: 4-4
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If hexagram one or two shows up three, instead of two more throws is
needed in this way: If two throws are identical the eyes of those decide
which line is changing. If three throws are identical it is, for hexagram one
and two, all lines are nine or all lines are six. And of course, if none of the

three throws are identical those two hexagrams are unchanged.



